
Grammatical Collocations

For each of the questions choose the one correct answer!

1. It seems no time at all since I started work and here I am at….age.
a.  outside c. deep
b.  ugly d.  retirement

2. They were deaf….our please for help.
a.  for c.  to
b.  of d.  at

3. The USA made a formal complaint … that country’s environmental policy.
a. on c. between
b. about d. of

4. It was…to do it. Which word that not suitable to complete this sentence.
a.  problem c. angry
b.  struggle d. pleasure

5. We made an attempt to….in touch with them.
a.  get c. gotten
b. got d getting

6. We reached an agreement….she would represent us in court.
a.  then c. than
b.  there d. that

7. His new novel has met with…acclaim.
a.  careless c. great
b.  dreadful d pronounced

8. It was nice….he was able to come home for the holidays.
a.  that c.  where
b.  then d.  when

9. “He sent the book to his brother”. Shift of an indirect object to a position
before the direct object! (Choose the correct one!)
a.  he sent his brother the book c.  he sent the book to him
b.  he sent it to his brother d. he sent it to him

10. All Hong Kong people were concerned….the recent economic crisis.
a.  on c. in
b.  for d. about



11. She was alert enough….see it.
a.  for c. to
b.  of d.  at

12. Have you…...the invitations to the party yet?
a.  posted-out c.  dispatched-out
b.  sent-out d.  delivered-out

13. People can use credit cards to pay….goods on the web.
a.  of c.  to
b.  at d.  for

14. It was with considerable pride….he presented his findings.
a.  then c. than
b.  there d. that

15. They were….to obeys instantaneously.
a.  schooled c.  schoolwork
b.  schooling d.  scholarship

16. We found the children….on the floor.
a.  sleepy c.  sleeper
b.  sleeping d.  sleepless

17. The court declared the law….unconstitutional.
a.  to do c.  for
b.  can be d.  to be

18. He asked….he should do it.
a. what c.  who
b.  how d.  which

19. Which the sentence below that does not include to intransitive verb followed
by predicate noun or predicate adjective combination?
a. she became an engineer c.  she was enthusiastic
b.  the flowers smell nice d.  he will write a letter

20. She knew….it was best to keep quite.
a.  when c.  how
b.  what d.  which

21. This figure could reflect their dissatisfaction … the lack of training.
a.  on c.  of
b.  at d.  with



22. It (the machine) was designed….operate at high altitudes.
a.  for c.  to
b.  of d.  at

23. My boyfriend….with me last night because he said he didn’t love me
anymore.
a.  broke up c.  broke down
b.  broke out d.  broke through

24. It was imperative….I be there at three o’clock.
a.  that c.  where
b.  then d.  when

25. One of these is not correct “The French always drink….wine with their
dinner”
a.  red c.  sweet
b.  white d.  pink

26. He made an emotional….to keep his job but he had made too many mistakes
and I had to let him go.
a.  appeal c. anomaly
b.  announcement d answer

27. We need to find a new site with….access to the European motorway network.
a. ready c.   Widespread
b. outright d. Wholehearted

28. It is surprised me….our offer was rejected.
a.  for c.  to
b.  of d.  that

29. They are afraid….him.
a.  for c.  to
b.  of d.  at

30. In his speech he made a flattering….to your work.
a. allusion c. applause

b. appearance d. application



Lexical Collocations

Choose the correct answer for the questions below!

1. 3 of the following nouns follow the verb ‘catch’ very naturally. Which verb
and noun combination does not go together?
a. catch a fish c. catch a cold
b. catch a bus d. catch a new word in English

2. We name colors such as ‘scarlet red’ or ‘jet-black’.Which one of the
following is NOT a name for green?
a. bottle green c. lime green
b. grass green d. olive green

3. Which of the following is not possible?
a. Make your bed in the morning.
b. Make a photo of the teacher and me!
c. He didn’t make any friends for a long time.
d. Oh no! I’ve made a mistake!

4. Which 1noun of 2noun combination does not include in lexical collocation?
a.  a herd of buffalo c.  an article of clothing
b.  a bouquet of flowers d.  a need of water

5. Which combination below does not include in verb and adverb combination?
a.  appreciate sincerely c. perfectly clear
b.  anchor firmly d amuse thoroughly

6. We need to make sure that there is enough….accommodation to house all the
delegates.

a.  careless c. yellow
b.  dreadful d luxury

7. We need to carry out a detailed….of the project before we go any further.
a.  amount c. anarchy
b.  analysis d alternative

8. Which noun and verb combination does not include in lexical collocation?
a.  adjective modify c.  bakers bake
b.  alarms go off d.  blood circulates

9. We had to choose from a motley…of candidates
a.  assignment c.  assortment
b.  assistance d.  association



10. We mustn't pass over the more worrying….of this scheme, the job losses.
a.   article c.  aspect
b.  argument d.  arrangement

11. It’s going to be … impossible to get this finished in time.
a.  virtually c.  deeply
b.  highly d. severely

12. I don’t know why you couldn’t follow his directions – they were ….clear.
a.  highly c.  perfectly
b.  deeply d. virtually

13. How can you describe someone who smokes a lot?
a. a heavy smoker c. a strong smoker
b. a dark smoker d. a brown smoker

14. Which noun and verb combination does include in lexical collocation?
a.  boxers box c.  dancers dance
b.  bombs explode d.  cooks cook

15. Which combination below does include in verb and adverb combination?
a.  deeply absorbed c. sound asleep
b.  affect deeply d closely acquainted

16. The following words all contain the word ‘speed’. Which one is incorrect?
a. speed food c. speed reading
b. speed bump d. speed limit

17. 3 of the following nouns follow the verb ‘have’ very naturally. Which verb
and noun combination does NOT go together?
a. have a meeting c. have a cup of coffee
b. have a baby d. have business with someone

18. She was….tempted to resign immediately.
a.  sorely c.  perfectly
b.  fatally d.  highly

19. The problems in Tokyo have caused….alarm on Wall Street.
a.  broad c.  stale
b.   triumphant (berjaya) d. considerable

20. He was very sorry about being late and apologized ……….
a. interminably c. deeply
b.  profusely d eagerly (dengan bernafsu)



Grammatical Collocation

NO. ANSWER NO. ANSWER NO. ANSWER

1 D 11 C 21 D

2 C 12 B 22 C

3 B 13 D 23 A

4 C 14 D 24 A

5 A 15 A 25 D

6 D 16 B 26 A

7 C 17 D 27 A

8 A 18 B 28 D

9 A 19 D 29 B

10 D 20 A 30 A

Lexical Collocation

NO. ANSWER NO. ANSWER

1 D 11 A

2 B 12 C

3 B 13 A

4 D 14 B

5 C 15 B

6 D 16 A

7 B 17 D

8 C 18 A

9 C 19 D

10 C 20 B



Grammatical Collocations

For each of the questions choose the one correct answer!

1. The USA made a formal complaint … that country’s environmental policy.
a. on c. between
b. about d. of

2. We made an attempt to….in touch with them.
a.  get c. gotten
b. got d getting

3. We reached an agreement….she would represent us in court.
a.  then c. than
b.  there d. that

4. His new novel has met with…acclaim.
a.  careless c. great
b.  dreadful (menyeramkan) d pronounced

5. “He sent the book to his brother”. Shift of an indirect object to a position
before the direct object! (Choose the correct one!)
a.  he sent his brother the book c.  he sent the book to him
b.  he sent it to his brother d. he sent it to him

6. All Hong Kong people were concerned….the recent economic crisis.
a.  on c. in
b.  for d. about

7. She was alert enough….see it.
a.  for c.  to
b.  of d.  at

8. It was with considerable pride….he presented his findings.
a.  then c. than
b.  there d. that

9. The court declared the law….unconstitutional.
a.  to do c.  for
b.  can be d.  to be

10. This figure could reflect their dissatisfaction … the lack of training.
a.  on c.  of
b.  at d.  with



11. It (the machine) was designed….operate at high altitudes.
a.  for c.  to
b.  of d.  at

12. She was afraid…..she would fail the examination.
a.  that c.  where
b.  then d.  when

13. It was imperative….I be there at three o’clock.
a.  that c.  where
b.  then d.  when

14. We need to find a new site with….access to the European motorway network.
a.  ready c.   Widespread
b. outright d. Wholehearted

15. They are afraid….him.
a.  for c.  to
b.  of d.  at

16. In his speech he made a flattering….to your work.
a. allusion c. applause

b. appearance d. application

Lexical Collocations

Choose the correct answer for the questions below!

1. We name colors such as ‘scarlet red’ or ‘jet-black’.Which one of the
following is NOT a name for green?
a. bottle green c. lime green
b. grass green d. olive green

2. Which 1noun of 2noun combination does not include in lexical collocation?
a.  a herd of buffalo c.  an article of clothing
b.  a bouquet of flowers d.  a need of water

3. Which combination below does not include in verb and adverb combination?
a.  appreciate sincerely c. perfectly clear
b.  anchor firmly d amuse thoroughly

4. We need to carry out a detailed….of the project before we go any further.
a.  amount c. anarchy
b.  analysis d. alternative



5. Have you…...the invitations to the party yet?
a.  posted-out c.  dispatched-out
b.  sent-out d.  delivered-out

6. It’s going to be … impossible to get this finished in time.
a.  virtually (hampir) c.  deeply
b.  highly d. severely

7.   I don’t know why you couldn’t follow his directions – they were ….clear.
a.  highly c.   perfectly
b.  deeply d. virtually

8.   My boyfriend….with me last night because he said he didn’t love me
anymore.
a.  broke up c.  broke down
b.  broke out d.  broke through

9. Which combination below does include in verb and adverb combination?
a.  deeply absorbed c. sound asleep
b.  affect deeply d closely acquainted

10. The following words all contain the word ‘speed’. Which one is incorrect?
a.  speed food c.  speed reading
b.  speed bump d.  speed limit

11. 3 of the following nouns follow the verb ‘have’ very naturally. Which verb
and noun combination does NOT go together?
a. have a meeting c. have a cup of coffee
b. have a baby d. have business with someone

12. Which noun and verb combination does include in lexical collocation?
a.  boxers box c.  dancers dance
b.  bombs explode d.  cooks cook

13. The problems in Tokyo have caused….alarm on Wall Street.
a.  broad c.  stale
b.   triumphant (berjaya) d. considerable

14. Which noun and verb combination does not include in lexical collocation?
a.  adjective modify c.  bakers bake

b.  alarms go off d.  blood circulates



GRAMMATICAL COLLOCATION

NO ANSWER NO ANSWER NO ANSWER

1 B 7 C 12 A

2 A 8 D 13 A

3 D 9 D 14 A

4 C 10 B 15 B

5 A 11 C 16 A

6 D

LEXICAL COLLOCATION

NO ANSWER NO ANSWER NO ANSWER

1 B 6 A 11 D

2 D 7 C 12 B

3 C 8 A 13 D

4 B 9 B 14 C

5 B 10 A



NO NAMA
NUMBER OF ITEMS

∑
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

1 Rini Widayanti          9
2 Aslikhatin                     20
3 Nurul Fauziatul       6
4 Silviana Safitri    3
5 Selvy Fanca A.          9
6 Kiki Vitria P.                             28
7 Linatul M    3
8 Rijianah                             28
9 M. Rochim                          25

10 F. Mahendra     4
11 Shohifatul A. L.                   18
12 Siti Qoimah        7
13 Imam Mariadi        7
14 Vivi Herawati                           26
15 Rahmatun Ni'mach                         24
16 Azizah Dwi Rizka                          25
17 Nuriel Iqomah J.                   18
18 Nur Hidayat     4
19 Thuroyhatun N.                       22
20 Diana Syarifah                             28
21 Aminatur Rizkiyah    3
22 Yusniar Firdausi                     20
23 Silvyana Indriyanti       6
24 Gresia D. H.                     20
25 Eka Octavia       6
26 Henny Susanti      5

∑ 12 8 15 12 13 14 14 6 8 10 14 14 13 12 14 15 15 16 10 14 12 14 15 11 13 13 10 12 15 10



NO Correct Upper Correct Lower CU + CL FV Comment CU - CL D Comment
1 7 4 11 0.42 Discarded 3 0.12 Weak
2 6 2 8 0.31 Discarded 4 0.15 Weak
3 11 4 15 0.58 Accepted 7 0.27 Satisfactory
4 10 2 12 0.46 Accepted 8 0.31 Satisfactory
5 11 2 13 0.50 Accepted 9 0.35 Satisfactory
6 11 3 14 0.54 Accepted 8 0.31 Satisfactory
7 11 3 14 0.54 Accepted 8 0.31 Satisfactory
8 5 1 6 0.23 Discarded 4 0.15 Weak
9 7 1 8 0.31 Accepted 6 0.23 Satisfactory

10 8 2 10 0.38 Accepted 6 0.23 Satisfactory
11 11 3 14 0.54 Accepted 8 0.31 Satisfactory
12 10 4 14 0.54 Accepted 6 0.23 Satisfactory
13 9 4 13 0.50 Discarded 5 0.19 Weak
14 11 1 12 0.46 Accepted 10 0.38 Satisfactory
15 12 2 14 0.54 Accepted 10 0.38 Satisfactory
16 12 3 15 0.58 Accepted 9 0.35 Satisfactory
17 12 3 15 0.58 Accepted 9 0.35 Satisfactory
18 13 3 16 0.62 Accepted 10 0.38 Satisfactory
19 9 1 10 0.38 Accepted 8 0.31 Satisfactory
20 12 2 14 0.54 Accepted 10 0.38 Satisfactory
21 10 2 12 0.46 Accepted 8 0.31 Satisfactory
22 11 3 14 0.54 Accepted 8 0.31 Satisfactory
23 13 2 15 0.58 Discarded 11 0.42 Strong
24 10 1 11 0.42 Accepted 9 0.35 Satisfactory
25 10 3 13 0.50 Accepted 7 0.27 Satisfactory
26 10 3 13 0.50 Accepted 7 0.27 Satisfactory
27 8 2 10 0.38 Accepted 6 0.23 Satisfactory
28 12 0 12 0.46 Discarded 12 0.46 Strong
29 11 4 15 0.58 Accepted 7 0.27 Satisfactory
30 8 2 10 0.38 Accepted 6 0.23 satisfactory



NO X F FX
1 28 3 84 Mean= 374
2 26 1 26 26
3 25 2 50 = 14.38
4 24 1 24
5 22 1 22
6 20 3 60 SD = 2258.15
7 18 2 36 26
8 9 2 18
9 7 2 14 = 86.85

10 6 3 18
11 5 1 5 = √86.85
12 4 2 8
13 3 3 9 = 9.32

26 374

NO X X-M S2
Rii = 30

1 28 13.62 185.50 30-1
2 28 13.62 185.50
3 28 13.62 185.50 = 30
4 26 11.62 135.02 29
5 25 10.62 112.78
6 25 10.62 112.78 = 1.03
7 24 9.62 92.54
8 22 7.62 58.06 = 1.03 (1-0.09)
9 20 5.62 31.58

10 20 5.62 31.58 = 1.03 (0.91)
11 20 5.62 31.58
12 18 3.62 13.10 = 0.94
13 18 3.62 13.10
14 9 -5.38 28.94
15 9 -5.38 28.94
16 7 -7.38 54.46
17 7 -7.38 54.46
18 6 -8.38 70.22
19 6 -8.38 70.22
20 6 -8.38 70.22
1 5 -9.38 87.98

22 4 -10.38 107.74
23 4 -10.38 107.74
24 3 -11.38 129.50
25 3 -11.38 129.50
26 3 -11.38 129.50

2258.15
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38.143038.141

 






 
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62.2241



NO NAMA Number of items ∑
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

1 Rini Widayanti    3
2 Aslikhatin               14
3 Nurul Fauziatul                    19
4 Silviana Safitri    3
5 Selvy Fanca Agustina      5
6 Kiki Vitria Pranata                  17
7 Linatul M    3
8 Rijianah                   18
9 M. Rochim    3

10 F. Mahendra                 16
11 Shohifatul Auwa Liyah          9
12 Siti Qoimah                    19
13 Imam Mariadi     4
14 Vivi Herawati      5
15 Rahmatun Ni'mach                   18
16 Azizah Dwi Rizka    3
17 Nuriel Iqomah Jannah      5
18 Nur Hidayat    3
19 Thuroyhatun N.        7
20 Diana Syarifah                   18
21 Aminatur Rizkiyah      5
22 Yusniar Firdausi                   18
23 Silvyana Indriyanti               14
24 Gresia D. H.                 16
25 Eka Octavia                  17
26 Henny Susanti                  17

JUMLAH 13 12 11 15 17 17 18 14 13 11 13 14 13 16 15 16 12 13 13 13



NO Correct Upper Correct Lower CU + CL FV Comment CU - CL D Comment

1 10 3 13 0.50 accepted 7 0.27 satisfactory
2 10 2 12 0.46 accepted 8 0.31 satisfactory
3 8 3 11 0.42 Discarded 5 0.19 Weak
4 12 3 15 0.58 Accepted 9 0.35 satisfactory
5 12 5 17 0.65 Accepted 7 0.27 satisfactory
6 12 5 17 0.65 Accepted 7 0.27 satisfactory
7 13 5 18 0.69 Accepted 8 0.31 satisfactory
8 11 3 14 0.54 Accepted 8 0.31 satisfactory
9 12 1 13 0.50 Discarded 11 0.42 Strong

10 8 3 11 0.42 Discarded 5 0.19 Weak
11 11 2 13 0.50 accepted 9 0.35 Satisfactory
12 12 2 14 0.54 accepted 10 0.38 Satisfactory
13 12 1 13 0.50 Discarded 11 0.42 Strong
14 12 4 16 0.62 Accepted 8 0.31 Satisfactory
15 11 4 15 0.58 Accepted 7 0.27 Satisfactory
16 13 3 16 0.62 Accepted 10 0.38 Satisfactory
17 10 2 12 0.46 Accepted 8 0.31 Satisfactory
18 11 2 13 0.50 Accepted 9 0.35 Satisfactory
19 11 2 13 0.50 Accepted 9 0.35 Satisfactory
20 10 3 13 0.50 Accepted 7 0.27 Satisfactory



  
  







 


49.4220
12.112012.111

NO X F XF
1 19 3 57 Mean= 289
2 18 4 72 26
3 17 3 51 = 11.12
4 16 2 32
5 14 1 14 SD = 1104.65
6 9 2 18 26
7 7 1 7 = 42.49
8 5 3 15 = √42.49
9 4 2 8 = 6.52
10 3 5 15

26 289 Rii = 20
20-1

No X X-M S2 = 20

1 19 7.88 62.09 20-1
2 19 7.88 62.09
3 19 7.88 62.09 = 20
4 18 6.88 47.33 19
5 18 6.88 47.33
6 18 6.88 47.33 = 20
7 18 6.88 47.33 19
8 17 5.88 34.57
9 17 5.88 34.57 = 20
10 17 5.88 34.57 20-1
11 16 4.88 23.81
12 16 4.88 23.81 = 20
13 14 2.88 8.29 19
14 9 -2.12 4.49
15 9 -2.12 4.49 = 1.05
16 7 -4.12 16.97
17 5 -6.12 37.45 = 0.9
18 5 -6.12 37.45
19 5 -6.12 37.45
20 4 -7.12 50.69
21 4 -7.12 50.69
22 3 -8.12 65.93
23 3 -8.12 65.93
24 3 -8.12 65.93
25 3 -8.12 65.93
26 3 -8.12 65.93

1104.65

  






 

8.849
88.812.111

 






 

8.849
75.981

 12.01

 88.0

 88.0

 88.0



NO NAMA
Number of item

TOTAL1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
1 Vivi Yuliawati    3
2 Nur Hamidah   2
3 Yuni Aniqotul W.     4
4 Ziarotul M.       6
5 Intan Permadani      5
6 Muzirotul K. W.    3
7 Niatin Fida Rahayu        7
8 Laili Amanah   2
9 Choirul       6

10 Mar'atus Sholihah         8
11 Warda           10
12 Via     4
13 Aif      5
14 Alfaini Rahmatul A.    3
15 No name 1        7
16 No name 2     4
17 No name 3      5
18 No name 4       6
19 No name 5  2
20 No name 6         8

Total Error 4 1 4 7 16 7 2 3 8 10 2 2 13 7 8 6 100



NO NAMA
Number of item

TOTAL
1 2 3 4 5 6 7 8 9 10 11 12 13 14

1 Vivi Yuliawati       6
2 Nur Hamidah        7
3 Yuni Aniqotul Wahdah     4
4 Ziarotul Madaniyah   2
5 Intan Permadani         8
6 Muzirotul K. Wahayik       6
7 Niatin Fida Rahayu         8
8 Laili Amanah       6
9 Choirul      5

10 Mar'atus Sholihah       6
11 Warda       6
12 Via   2
13 Aif   2
14 Alfaini Rahmatul Azizah        7
15 No name 1       6
16 No name 2        7
17 No name 3     4
18 No name 4     4
19 No name 5  1
20 No name 6     4

Total Error 14 6 4 1 7 9 7 6 6 6 16 9 5 5 101
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